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D /%5 E| D /= IE|D B= IE|D B2 E|D B IE| D /= IE| D BE B
13 WA &k B =3 |52 13400 1]47 13000 2|49 13350 2|52 14000 1|44 11900 2|49 13200 1293 78.850 2
15 R #®A i3 =2 |49 11500 7|57 14300 1]|4.3 12750 3|48 13.450 3|43 11300 6|43 12.750 3283 76.050 3
18 H#t #E i3 =1 |45 12700 439 11200 7|39 12500 6|40 12350 5|37 11.750 3(3.9 12300 5239 72800 4
21 B% K i3 =1 |52 13250 3|31 10400 9|42 12600 5|44 12200 6|40 11700 4|44 11550 9253 71.700 5
F—LEBR (RX+3) 39.350 38.500 38.700 39.800 35.350 38.250 229.950 1
25 A e AE =3 |54 13300 2|50 12750 359 14300 1[48 13800 2|45 12150 1|49 13100 2| 305 79.400 1
26 HAA FiK AE =3 |37 11400 8|25 9.800 11]|36 10.850 13|4.0 12500 4|31 11100 7(3.4 10.900 12|20.3 66.550 9
29 ® HE AFE =1 132 9900 16|24 9.400 12]3.0 11.450 10|24 10900 12|25 11100 7|23 10.300 13| 158 63.050 11
30 w15 AFE =1 |37 11250 10|24 9.900 10|28 8950 24|24 10.600 13|25 11.000 12|23 11.100 11| 16.1 62.800 12
F—LBR (RX+3) 35.950 32.450 36.600 37.200 34.350 35.100 211.650 2
6 FE #®WX WERBEZE =3 [3.2 10.300 14|20 7.700 24|26 10.000 18|22 9.400 21|24 9.800 16|18 9.500 16| 14.2 56.700 15
1 FE BA WERBEFE =3 |24 9.000 24|18 3.800 26|26 10.750 14|16 10.150 16|24 9500 17|24 7.100 22| 13.2 50.300 18
8 Al K& WERKBEFE =3 | 3.0 10250 15|20 8.400 17|26 10.600 15|16 9.200 23|24 9.900 14|18 9.300 17| 13.4 57.650 14
9 £2@ | WERBEFE =3 |26 9.600 19|26 9.400 12|26 10.000 18|16 9.400 21|22 4.000 26|18 8.750 18| 13.4 51.150 17
F—LEBR (RX+3) 30.150 25.500 31.350 28.950 29.200 27.550 172.700 3
2 Elu BA 24 =2 |23 5500 30[1.8 3.500 2827 10.000 18|16 9.150 25|21 5650 20|14 2.400 28| 11.9 36.200 26
3 HE AR £4 =2 |25 8850 26|18 3500 28|19 8950 24|16 9.600 18|21 5500 23|15 4.900 23| 11.4 41.300 25
4 EE HE E- ¥ =2 |23 9.000 24|18 3.400 30|18 7.800 28|16 8900 28|19 2500 30|14 2.050 29| 10.8 33.650 28
5 K EX 24 =1 131 10550 13|25 9.300 14|34 10900 12|32 11.400 8|28 10.200 13|23 10.000 14| 17.3 62.350 13
F—LBR (RX+3) 28.400 16.300 29.850 30.150 21.350 17.300 143.350 4
33 WM ®X AK =3 |25 8.800 27|20 8200 19|19 9.300 22|16 9.600 18|25 8950 18|17 4.000 25| 12.2 48.850 20
4 FE —F AK =2 |23 9400 22|20 8000 22|20 8850 26|16 9.200 23|22 4750 25|18 7.900 21| 11.9 48.100 21
3B IHE BRE AK =2 |25 9.800 18|20 8300 18|00 0.000 31|16 10.250 15|0.0 0.000 32(0.0 0.000 31| 6.1 28350 29
F—LBR (RX+3) 28.000 24.500 18.150 29.050 13.700 11.900 125.300 5
23 FE & M =1 39 12100 5|46 12400 434 11900 8|40 11350 10|33 11600 5|35 11.800 7[227 71150 6
20 BF A% i3 =1 |41 11400 8|40 11950 637 12300 7|32 11800 7|34 11.050 10(3.6 12200 6|22.0 70.700 7
14 #HE @B i3 =3 |38 11.800 6|36 11100 8|41 12650 4|32 11350 10|42 11100 7|47 12.650 4236 70.650 8
22 \NEHR BN 153 =1 |43 11.000 1127 9.300 1431 11150 11|32 11.400 8|33 9.850 1529 11.150 10| 19.5 63.850 10
12 EdD W2 WERBREFE =2 |24 9450 21|20 8200 19|19 9.400 21|16 9.800 17|24 8.800 19[1.8 8.100 20| 12.1 53.750 16
21 8 SH# UN= =2 [3.2 10.600 12|18 3.800 26|24 10.100 16|22 10.450 14|21 5600 21|20 8.600 19| 13.7 49.150 19
28 Mim HE AFE =2 |24 9.850 17|24 8100 21|27 10.050 17|16 9.000 27|21 5150 24|17 4150 24| 129 46.300 22
31 WA B B =1 |23 9550 20|24 8800 16|17 5450 29|16 8800 30|13 3.650 28|17 9.950 15| 11.0 46.200 23
10 &ft = WERKREEER =2 |23 9100 23|20 8000 22|19 9.200 23|16 9.600 18|21 5550 22|15 2500 27| 11.4 43.950 24
1 8K BEA £4 =2 |23 8400 29|15 2500 31|20 8150 27|16 8850 29|19 2900 29|15 3.650 26| 10.8 34.450 27
11 K& x&F WERKBREEER =2 |23 8.800 27|19 4500 25[/00 0.000 31|16 9.050 26|21 3950 2700 0.000 31| 79 26.300 30
24 KR —& P9 B T g 4R =3 |17 4700 31|07 1200 32|17 5350 30|16 8800 30|19 2400 31|12 1.650 30| 8.8 24.100 31

16 &k HME iz =2 4y 42 12300 5|32 11.600 9]/0.0 0.000 32|25 11.050 10|3.5 11.800 7
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D B/ IE D B & D E g1 & D B/ & D B/ &
19 &8 KB B =2 35 12.000 2 1.5 9350 5 4.1 12.000 2 4.4 12.500 2 13.5 45850 3
20 BRER KXy i3 =2 0.0 0.000 24 37 10.550 2 1.9 9950 6 0.0 0.000 24 5.6 20.500 23
21 KA BEE i3 =2 4.2 12.950 1 2.8 10.150 4 4.3 12.500 1 4.7 12.900 1 16.0 48.500 1
22 RElE HIZE i3 1= 4.1 11.900 3 3.2 10.700 1 45 11450 3 4.6 12100 3 16.4 46.150 2
F—LEBR (RX+3) 36.850 31.400 35.950 37.500 141.700 1
26 /L EFE A =3 3.7 11.600 4 25 10.250 3 3.5 9.300 8 4.0 11.750 4 13.7 42900 4
21 &E #F b VN =3 2.0 10500 7 1.8 8900 7 2.4 9.450 7 37 10.950 7 9.9 39.800 7
28 £ WIH AK =2 2.0 9.100 14 0.5 3.700 17 2.4 7.600 13 2.0 8.350 11 6.9 28.750 14
F—LEBR (RX+3) 31.200 22.850 26.350 31.050 111.450 2
11 EE& #E| 24 =3 2.0 10.050 8 1.2 6.550 10 1.9 8800 9 2.8 9450 8 7.9 34850 8
12 B E¥F E- ¥ =2 3.7 11200 5 35 9150 6 3.8 10.850 5 4.2 11.050 6 15.2 42250 5
13 A & E- ¥ =2 2.0 9.400 11 1.2 6.050 13 1.4 6.750 17 1.4 7.750 13 6.0 29.950 12
16 %A E4 E- ¥ =2 2.0 8.550 21 0.6 5.600 15 1.8 8.650 10 1.5 7.550 15 5.9 30.350 11
F—LEBR (RX+3) 30.650 21.750 28.300 28.250 108.950 3
1 BH %XEBE WERKREZE =3 2.0 9.350 12 0.0 0.000 25 2.0 7.200 15 2.2 9350 9 6.2 25900 18
2 BRE &<K5 WERKREFE =3 3.0 11200 5 1.2 7350 8 3.3 11150 4 3.6 11550 5 11.1 41250 6
3 FE K WERBRESE = 2.0 9.500 10 1.2 7.200 1.4 6.050 19 1.9 8.700 10 6.5 31450 9
5 FRig Bt WHERBEFE =2 2.0 8.850 18 1.2 6.250 11 1.8 7.900 12 1.4 6.800 18 6.4 29.800 13
F—LBR (RX+3) 30.050 20.800 26.250 29.600 106.700 4
23 /AR FTAhE P9 B g 4R =2 2.0 10.050 8 1.1 6.200 12 1.4 7.350 14 1.4 7.750 13 5.9 31.350 10
8 BAR E&f WHERBEFE =2 2.0 8950 17 1.2 5750 14 1.4 6.100 18 1.2 7.000 17 5.8 27.800 15
10 =% HE WHERBEFE =2 2.0 8.800 20 0.5 3.250 19 1.8 7.100 16 1.9 7.800 12 6.2 26.950 16
7 thE ZEK WERBEE =2 2.0 8.850 18 0.5 2.700 20 1.4 8.000 11 1.3 7.150 16 5.2 26.700 17
17 B)Il RBE e =2 2.0 8.250 22 0.6 5.400 16 1.2 6.000 20 0.8 5700 22 4.6 25.350 19
9 WXk EZB WERKREFE =2 2.0 9.050 16 0.5 1.000 22 1.4 5500 21 0.7 6.500 19 4.6 22.050 20
6 iOEE RRER WERBEE =2 2.0 9.100 14 0.4 0.600 24 1.3 5.000 22 1.4 6.300 20 5.1 21.000 21
4 B HEF WERBEE =2 2.0 9.200 13 0.4 0.800 23 1.3 4350 23 0.7 6.250 21 4.4 20.600 22
18 R %XEB £4 =2 2.0 7.650 23 0.5 2.350 21 1.4 4.000 24 1.2 5200 23 5.1 19.200 24
25 B8 HE A= =2 0.0 0.000 24 0.4 3.400 18 0.0 0.000 25 0.0 0.000 24 0.4 3.400 25
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